10.10 Part 1 Monday, May 10, 2021 1:08 P

$$\frac{(1+x)^{2}}{(1+x)^{2}} = (1+x)(1+x) = 1+2x+x^{2} - (1+x)^{3} = (1+x)^{2}(1+x) = (1+2x+x^{2})(1+x) = ---- (1+x)^{3} = (1+x)^{2} - --- (1+x)^{3} = ---- (1+x)^{3} = ---- (1+x)^{3} = ---- (1+x)^{3} - --- (1+x)^{3} - (1+x)^{3} = ---- (1+x)^{3} - (1+x)^{3} = ---- (1+x)^{3} - (1+x)^{3} = ---- (1+x)^{3} - (1+x$$

STUDENTS-HUB.com

Uploaded By: Jibreel Bornat

$$= 1 + \frac{1}{2} \times + \frac{\frac{1}{2}(\frac{1}{2}-1)}{2} \times + \frac{\frac{1}{2}(\frac{1}{2}-1)}{3!} \times + \frac{\frac{1}{2}(\frac{1}{2}-1)}{3!} \times + \dots$$

$$= 1 + \frac{1}{2} \times + \frac{1}{2} \times + \frac{1}{16} \times \dots$$

$$= 1 + \sum_{k=1}^{\infty} \left(\frac{\frac{1}{3}}{k}\right) \times + \frac{1}{16} \times \dots$$

$$= 1 + \sum_{k=1}^{\infty} \left(\frac{\frac{1}{3}}{k}\right) \times + \frac{\frac{1}{3}(\frac{1}{3}-1)}{2} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)(\frac{1}{3}-2)}{3!} \times + \dots$$

$$= 1 + \frac{1}{3} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)}{2} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)(\frac{1}{3}-2)}{3!} \times + \dots$$

$$= 1 + \frac{1}{3} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)}{2} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)(\frac{1}{3}-2)}{3!} \times + \dots$$

$$= 1 + \frac{1}{3} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)}{2} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)(\frac{1}{3}-2)}{3!} \times + \dots$$

$$= 1 + \frac{1}{3} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)}{2} \times + \frac{\frac{1}{3}(\frac{1}{3}-1)(\frac{1}{3}-2)}{3!} \times + \dots$$

$$= 1 + \frac{1}{3} \times + \frac$$

STUDENTS-HUB.com

Uploaded By: Jibreel Bornat

$$\begin{aligned} \text{Maclovive of } & \sin(t) = t - 3! + \frac{1}{5!} - \frac{1}{7!} + \frac{1}{5!} - \frac{1}{5!} + \frac{1}{5!} - \frac{1}{7!} + \frac{1}{5!} - \frac{1}{5!} + \frac{1}{5!} + \frac{1}{5!} - \frac{1}{5!} + \frac{1}{5!} + \frac{1}{5!} - \frac{1}{5!} + \frac{1}{$$